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General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ®) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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1. R 3R AT o g o o1 frefafad omi 5 @ &M 9 5o Je 12l @ 7
(a) WRA 3R AT o e Toh gaL <1 H fomr fisi % am o7k & T < vy § U
few g |
(b) YR, TUTA & T Tt (AT % ST bl HTST HLAT 2 |
(c) TFI <IN H AlhTi=h ITE= JoTTett & |
(d) U HeF WA <ht Aiferi ST STTET HLAT 7 |

2. SEUYH wEafl gr faskrasficl <o A frarr o % g ren hi gg=e HIf |
(a) S TRT <1 HeAToT LT |
(b) 3T FUTT ST T 3ATUH HATHT HHMT |
(c) 313 <M1 I A1 5T |
(d) forerasiier < 1 TLhR ! foiia TEm™daT Ie T |

3. Tmafafaa fek v 1 = fow o foreft e 3uges ug @ vfe -

%1 7 T Wiy & 2 W adae A H AEwEsas s weh fd
STEATIHATIT b T THFT T ForT 90 el 2 |
(a) dfeae aa (b) fermer e forepma
(c) fTewrs famm (d) Teepfoa guni 1 T

4. TorE 3MYUT W TG HYh T GRET NG T TTf FewrdT 1 gre ST § 7
(a) TTHETI &HAT
(b) Ui srafenE g
() wfruE S am
(d) formmer SEEET Te ot 3l wft BT
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SECTION - A

1.  Which one of the following statements about relations between India and
Nepal 1s NOT correct ? 1
(a) India and Nepal have a special treaty related to travel and work in
the other country without Visa.
(b) India shares the river water from Nepal.
(¢) Both countries have democratic form of government.
(d) Nepal always follows the policies of India.

2.  Identify the main reason behind the investments of MNCs in developing
countries. 1

(a) For the welfare of the underprivileged people.

(b) To increase their own assets and earn profits.

(¢) For the benefit of other countries.

(d) To provide financial support to the developing countries.

3. Fill in the following blank with an appropriate term from among the
following : 1

means the progress that meets the needs of the present
generation without compromising the need of future generation.
(a) Global commons (b) Development without destruction
(¢) Sustainable development (d) Politics of developed nations

4. On which basis does India claim permanent membership of the UN
Security Council ? 1

(a) Nuclear capability

(b) Located in Asia

(c) Being a secular country

(d) Large population and big economic power
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Fr few e 9T (5 TE 6) T, T HUAT I IARTHYA (A) 3T BT (R) & w9 H Fafad feman
TR | 3 A1 1 ufen 37 feu mu fosreut O & Tt s g

5. SWEUH (A) : 1990 % @k % Gk TS o SIIH U7 shi ToHfereh arfeat 31

31TH ST 31reh Geft 37 STt seH yoTeft 9med 9 |

&t (R) : TSI AT 6T TERIAT | TR 9T 0T 007 ST §U T TR 364 Auret §

Arehadl o o s wfcsiferg femam |

fererea :

()
(b)
©
(d)

(A) 3T (R) 31 = 8 3R (R), (A) H vt =Amen 2 |

(A) 3R (R) ST w1t 8 0 (R), (A) =h1 Bl e T 2 |
(A) T 2, AAfhT (R) Terd 2 |

(A) TTeTd 8, Wi (R) eI 2 |

6. INERUE (A) : EIH TP T 3N hH A1l 2 Fop o8 e g forwar o Sger o oht wm@ |

=t (R) : Hiferrd Te % ferere % a1e s T3 <91 9 TP o TS & |

farepea

()
(b)
©
(d)
59/5/1

(A) 3R (R) 31 & B 3R (R), (A) Y vt =men 2 |

(A) R (R) THT w8 0 (R), (A) 1 &l =T T 2 |
(A) T 2, AAfehT (R) Tt 2 |

(A) TeTd B, AR (R) TET R |
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In the questions (5 & 6) given below, there are two statements marked as

Assertion (A) and Reason (R). Read these statements and choose one

correct answer from the given options :

5. Assertion (A) : During constitutional monarchy in 1990s, the political

parties and the common people of Nepal wanted to have a

more open and responsive system of government.

Reason (R): The King with the help of the army retained full control

over the government and restricted the expansion of

democracy in Nepal. 1

Options :

(a)
(b)
()
(d)

Both (A) and (R) are true and (R), is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false.

(A) 1s false, but (R) is true.

6. Assertion (A) : The United Nations is expected to cope better with the

Unipolar World.

Reason (R): After the disintegration of Soviet Union many new

countries joined the United Nations. 1
Options :
(a) Both (A) and (R) are true and (R), is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d)

59/5/1

(A) is false, but (R) is true.
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7. Trafafga @ 9 o= a we, feda et Tiem @ smfea o ¢

(a)
(©

CIBIHiEz (b) 3Tk THEAT
o foena (d) T T 3N

8.  TrAferfiga 5 & 1 |1 weh, Hifr 31T 61 38 T & 7

(a)
(b)
©)
(d)

T <61 fererre ufshan o fore wriferes Hifa wem @ |
el Tien T o fou e 3 & &9 8§ i &1 |
forepma iAo foTu e <Y seree & |

ifer o &9 st ) gHE T |

9. Tr=ferfaa gemati i HeshuaR Saferr Hif :

@

AT FETGL It 31 TaEE < w9 H e

(ii) dTeTehe HWSHAT

(iii) =T I AT

(iv) . frdh s agafe Saifad g
gt foreheu gfiu

(a)
(b)
(©
(d)

®), (1), (1), (@v)
(i1), (111), @v), @)
(ii1), @v), (@), (i)
(1), @v), @), (Qi1)

10. YRAH ‘YUH cAlehdiizeh ogt h! GHIEy o= o ?

(a)
(b)
©)
(d)
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1950 % g1 & 1970 % &I dh
1960 % g1 & 1970 % T3 dh
1960 % 231 & 1980 % &I dh
1970 % g & 1980 o G b
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7. Which one among the following was expected from the Second Five Year

Plan ? 1
(a) Industrialisation (b) Economic equality
(¢) Rural development (d) Eradication of poverty

8.  Which one of the following is not the objective of NITI Aayog ? 1

(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(¢) To arrange funds for the developmental programmes.

(d) To put an end to the tardy implementation of the policies.

9. Arrange the following in the chronological order : 1
(1) Appointment of Lal Bahadur Shastri as Prime Minister.
(i) Tashkent Agreement
(i11) The fourth General Elections.
(1v) Election of V.V. Giri as the President of India.
Choose the correct option :
(@ @, @), (), Gv)
(b) @), (i), @v), @)
(¢) (@), @v), @), (@)
(d) @, av), @), (i)

10. What was the time period of ‘First Democratic Upsurge’ in India ? 1
(a) From 1950s to 1970s
(b) From 1960s to 1970s
(¢) From 1960s to 1980s
(d) From 1970s to 1980s

59/5/1 I— 1 Page 9 of 24 P.T.O.



11. ‘ST HYe™ &1 day fha T 8 8 ? 1
(a) BV Tedl (b) IrEH
(c) WU @) fsim
12. 0 3R YR ¥ Treg 7= 370 i el THTH fohanm 1 7 1
(a) 26 Had, 2019 (b) 15 3, 2019
(c) 93, 2019 (d) 19 3rr, 2019
wWE-@
13. WA 3R qTferEam™ o i a2l sl GETA o T 15 g1 3UT ST | 2x1=2
14. 3IT=AUET 59 S o foheal €l AT h! ST HIWT | 2x1=2
15. W <t e fdreran sht ife w1 fergeryor Hifs | 2

16. “gferor UfSrn & cliehas o NSl T AR hl AfTeeh o1 i T 9T & |7 A 6
gfs Hifre | 2
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11.

12.

13.

14.

15.

16.

‘Bodo’ community belongs to which state ? 1
(a) Arunachal Pradesh (b) Assam
(c) Manipur (d) Mizoram
When was Article 370 related to Jammu and Kashmir abolished ? 1
(a) 26 January, 2019 (b) 15 August, 2019
(¢) 9 August, 2019 (d) 19 August, 2019
SECTION - B
Suggest any two measures to improve the relations between India and

Pakistan. 2x1=2

Explain any two functions of International Labour Organisation ILO). 2x1=2

Analyse the India’s policy of Non-alignment. 2

“The South Asian experience of democracy has expanded the global

imagination of democracy.” Justify the statement. 2

59/5/1 I— 1 Page 11 of 24 P.T.O.
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17. g HHR g ISHT AR o T W Afd 37— 1 T84 6 & 615 o I TE
FHifTT | 2x1=2

18. 9Ra 3 @A A, (s qheror yfgewa afr) qen TR, (s wER afer) m
FEATRT 1 T2l fepu ? B8 o1 hur TE I | 2x1=2

LCERR |
19. “37%& & 31T o foeg Tk SH-3TcIeH o1 |” %2 < 987 § 15 &l 3G 4T 12 x 2 = 4
20. 1969 H HidF 41 H g fIHTSH o h1E G HRUT IATR HIFAT | 2x2=4
21, S[7 1992 # e & Srrifa et ae’ o fohgl IR aiommi I SITRHINT | 4x 1=4
22. Toire % Tt # &t it srereft gt gra foremé € yfireht b Sreher AR | 4

23. WA % |1 <t Frmadi o foem 4 egr weet i yfient o1 gouieh it | 4
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17.

18.

19.

20.

21.

22.

23.

(=] =
b : Y
2o
Explain any two reasons for the formation of the NITI Aayog in place of

the Planning Commission by the Union Government. 2x1=2

Why did India not sign the nuclear treaties like NPT and CTBT ? Explain

any two reasons. 2x1=2

SECTION - C

“The ‘Arab Spring’ was the people’s revolution against injustice.” Support

the statement with any two examples. 2x2=4
Highlight any two reasons for the split in the Congress Party in 1969. 2 x 2 =4

Highlight any four outcomes of the ‘Earth Summit’ held in June 1992 at

Rio. 4x1=4

Assess the role played by Akali Dal, a regional party, in the politics of

Punjab. 4

Evaluate Sardar Patel’s role in the integration of princely states with

Indian Union. 4

59/5/1 I— 1 Page 13 of 24 P.T.O.
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24. T e Y egdes dfeu 3R feu e oA & 3 ferfia 4x1=4
Th STIURN o € H JThUl g €9 8 Y18 ¥ Fafd ® | 3 yarg fofie whr & 8@
Thd @ | fova & T o 9 g fe 1 9 9t fomw, @ o1 1§ s1ive s % S
GSft T T8, 3 o % ST ST BT SATIR YT SEWR TSR hl qaAT H G
fafira fewai & ARTH <6t STTaTeTE | I5T Ty HEaqul oTd & “fovasardt R Jee, St
UH yaTal i faar | 91 g g S EHEm i B |
Q) fovgedt urwafen Jera @ frafaiad § @ w1 wgT AR ?

(a) oeliRT
(b) xRt
(c) HHTSIRTT
(@) Tttt

(i) Izl S M E -
(a) TR, TR 3T 3Mefcies
(b) TR, 3TMIeh TR Wimifeteh
(c) TSHifaeh, 3T 3T Yo TaRui
(d) TSR, AR 3T 3Tfeiw

(i) freferRaa & & = smffe nfafafrd & gfg wwar g 2
(a) USRI T A M
(b) RIS gehih H 5
(c) weq dfvaeh il fasm
(d) =R T A frree

(v) Frfafed @ @ % Sy o I 2 ?
(a) TR NFEAIEER
(b) A AR 3rerie A fpy MU R |

(©) 3UNIRHT 1 T forqa g3 2 |
(d) = IR ! SemE e g |
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SECTION -D

24. Read the passage given below carefully and answer the questions that
follow : 4x1=4

Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds — ideas moving from one part of the world to
another, capital shunted between two or more places, commodities being
traded across borders and people moving in search of better livelihoods to
different parts of the world. The crucial element is the ‘worldwide
interconnectedness’ that is created and sustained as a consequence of
these constant flows.

(1) ‘Worldwide interconnectedness’ is also knownas
(a) Globalisation
(b) Liberalisation
(¢) Socialisation

(d) Privatisation

(i1) Dimensions of globalisation are __
(a) political, social and spiritual
(b) social, economic and geographical
(¢) political, economic and environmental

(d) political, social and economic

(111) Which among the following increases economic activities ?
(a) Decline in employment
(b) Increase in the index of poverty
(¢) Strong global economic growth
(d) Great decline in the trade

(iv) Which one of the following is an impact of globalisation ?
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(¢) Choice of the customer has increased.

(d) It has given a boost to local industries.

59/5/1 I— 1 Page 15 of 24 P.T.O.
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25. YRd & feu mu gerifas War-amfes O =R ewi /s ol A, B, C d9m D gRI i T
2 | = € TTE ST % SR W g6kl UgeH hifaTT 3T 379 IT-qfqeht o 39 Tl
T, AR 61 ITE DRI sl sHT TEAT T Hated 318, fou e yew & 1gEr fafaw :
4x1=4

() T8 < fSreeh a1y Yid 1 1962 | Ig 53 |

(ii) o8 & e T T o1 it & g W feame § |

(i) =€ SIS 1971 % Tg o wTe s § 3T |

(v) o8 TRdT =" ST = & F1er HHT ETe ST @ |

TE <Rl T2 AR <hl A A& et AR /T 1 A

(1)
(i)
(iii)
(iv)

."{‘,:'
BAY
ARABIAN s OF
SEA Nj.._s" & BENGAL
¢ Ao

%ﬂ

youse”

o
P %
° ; 0%;%
Map not to Scale
INDIAN OCEAN
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25. In the given political outline map of India, four countries / states have

been marked as A, B, C and D. Identify these on the basis of the
information given below and write their correct names in your answer
book along with their respective serial number of the information used
and the concerned alphabet as per format that follows : 4x1=4
(1) The country with which India fought a battle in 1962.
(11) The country with which India has a dispute on Kashmir.
(111) The country which came into existence after the 1971 war.
(1v) The Indian state which shares its border with China.

Sr. No. of the Concerned alphabet Name of the
information used in the map countries/states
@
(i1)
(i11)
@iv)

POLITICAL MAP OF

INDIA

........

ARABIAN 3
SEA & N BENGAL

Map not to Scale

INDIAN OCEAN
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e : Ffeiaa we Fae giatia wlenfert & fo, wor e 25 F wH R E
(25.1) 39 < o1 A foafgn foees @1 a4 1962 H Ig et o |
(25.2)  TSITEI o wTC A 21 foh <91 % |1Y WA 1 R g2 W Hes @2 7
(25.3) @ gfasiza & Geftra < s I fofey |
(25.4)  TATTR 1 ShiF T TRATT T <1 o F1 STI HHT T730 HLAT 8 2

26. Tr=feritad ¢ 1 e A 31eaa L 3R = fou weai & 3o ford

@

59/5/1

ARES.

ek,
www caglecartoons con i en

e 4 femmn mn afves frefafea 4 o fra ew A gafea g 7
(a) o & (b)  HIH T IR

¢

() T d =™
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Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 25 : 4x1=4
(25.1) Name the country with which India fought a battle in 1962.

(25.2) With which country did India have conflict over Kashmir issue
since independence ?

(25.3) Name the country related to Sheikh Mujibur Rahman.

(25.4) Which Indian state in the North East shares its border with
China ?

26. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

ARES,

wrww €a0leCcanoons con

(1) The soldier shown in the cartoon belongs to which one of the
following countries ?

(a) USSR () USA
(¢) Iraq (d) Iran

59/5/1 I— 1 Page 19 of 24 P.T.O.
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(i) TorE o 3R TR “STTREH SUehT ThISH” o ShedTH & STTshu feka T o 7

(a) 1993 (b) 2000
(¢) 2003 (d 2008

(i) 1T H fema w3 § & FomfRed § #1991 0 M@ FT R ?
(@) W (b)  HTHEH
(c) e @ =

(iv) U™ @El Ig 1 frferfiaa @ & forg weh s Tm @ St ST ST R 2
(a) WRAR (b)  TRIH fasiTE
(c) HEII IR (d)  ITTRIH T hen

e : Frefafad o Fae givenferm whenfet 3 o, v Ten 26 F UM WR: 4x 1= 4
(26.1) fEAfafRgada s ATy @I HTA B ?

(@) W (b) IRREdH
(© HH (d) HiREN
(26.2)  forE o A “3TTIH SUHT ThISH” o HeATd 8 FUh T STTHAT G AT ?
(a) 1995 (b) 1999
(¢ 2003 (d) 2007

(26.3)  WMD 1 forqa &9 ferfm |
(a) =uE ATk s fewgm
(b) =uE AT A feEeR
(c) = T Hfeemm forgaem
(d) =UE 3T HiE forrm
(26.4) A @I g I Frfafaa 7 @ fpa ST A @ SIS R 7
(a) WRaR (b) ATRH fetsiam
(¢) IR AR (d) AR T e
59/5/1 I —1 Page 20 of 24
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(1) In which year was Iraq attacked under the code name ‘Operation

Iraqi freedom’ ?

(@) 1993 (b) 2000
(c) 2003 (d) 2008
(111) Which one of the following countries shown on the cartoon is a ‘Gulf
country’ ?
(a) Iran (b) Kazakhstan
(¢) Pakistan (d) Oman
(iv) The First Gulf War is also known as .
(a) Smart War (b) Operation Liberation
(¢) Computer War (d)  Operation Enduring Freedom
Note: The following questions are for Visually Impaired
Candidates only in lieu of Q. No. 26 : 4x1=4
(26.1) Which one of the following is a Gulf country ?
(@) Iran (b) Pakistan
(¢) Oman (d) Kazakhstan
(26.2) In which year was Iraq attacked under the code name
‘Operation Iraqi Freedom’ ?
(@) 1995 (b) 1999
(c) 2003 (d) 2007
(26.3) What is the full form of WMD ?
(a) Weapons of minimum destruction
(b) Weapons of mass destruction
(¢) Weapons of maximum destruction
(d) Weapons of most destruction
(26.4) The First Gulf War is known as -

59/5/1

(a) Smart War (b) Operation Liberation
(¢) Computer War (d) Operation Enduring Freedom

I —1 Page 21 of 24 P.T.O.



27.

28.

29.

30.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
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T wg & Th IR wreT ¥ Afemiiie Teifas deed § fyswfaa 8

yfsean o wrE AT |

YA

YT T Teh AT IUAT §AT Ik brgy S T TETIHh Fohegl o HHehl hl e

T |

3x2=6

L& o ToTT uh T @t o &9 1 3ATdehae o e fohegl a1 3erawi 1 dgrer |

FHINT |

YA

2x3=6

TIH TP G UG & T Rt ue sy ween % fau yearfad R = w

HTIEUST ! T SHITT |

4x1%=6

1975 H GIfYd STITdehTA bl WRATT UsiHIfd shl gaifires foanfed srer s qm1 S

2 7 IS A PRI IATR I |

YA

3x2=6

1977 % IATE § HE U o Iaq &b oI IogrRlt fhdl i wrepl &l IR

T |

3x2=6

HUSH TN 1 o FHRTRET ford TR ‘37 fuer et <l gaenati sl 81 6 Al

Teh T 2 7 Targeror Hifs |

YA

3x2=6

T ToHifa § 3= fuser ot & 3 & fau ot el 9 wrenl &1

fergetwor Hifsiw |
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SECTION - E

27. (a) Explain the process of evolution of the European Union from an

economic union to an increasingly political one. 6
OR
(b) Explain any three factors that led India to emerge as a new Centre of
Power. 3x2=6

28. (a) Explain terrorism as a new source of threat to the security with the
help of any two examples. 2x3=6
OR
(b) Explain any four criteria proposed for new permanent and non-

permanent members of the UN Security Council. 4x1%=6

29. (@) Why i1s the emergency imposed in 1975 considered the most
controversial episode in Indian politics ? Highlight any three
reasons. 3x2=6

OR
(b) Highlight any three factors which were responsible for the downfall
of the Congress Party in the 1977 elections. 3x2=6

30. (a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the ‘Other Backward Classes’ (OBCs) ?

Analyse. 3x2=6
OR
(b) Analyse any three factors that led to the rise of ‘Other Backward
Classes’ (OBCs) in Indian Politics ? 3x2=6
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Senior School Certificate Examination, 2023

Marking Scheme - POLITICAL SCIENCE (SUBJECT CODE - 028)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, marks should
be awarded.

The Marking scheme caries only suggested value points for the answers These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. . If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X’ be marked.
Evaluators will not put right( V) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note "Extra Question".

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only once

11

A full scale of marks 80 marks given in Question Paper has to be used. Please do not hesitate to
award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines).

13

Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-
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e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e  Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e  Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.

SECTION - A Pg | Mar | Tot
ks

Q1. Which one of the following statements about relations between India

and Nepal is NOT correct? 1

(a) India and Nepal have a special treaty related to travel and work to

the other country without Visa.

(b) India shares the river water from Nepal.

(¢) Both countries have democratic form of government.

(d) Nepal always follows the policies of India.
Ans | (d) Nepal always follows the policies of India. P-76 1

|

Q2. Identify the main reason behind the investments of MNCs in developing

countries. 1
(a) For the welfare of the underprivileged people.

(b) To increase their own assets and earn profits.

(c) For the benefit of other countries.

(d) To provide financial support to the developing countries.
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Ans | (b) To increase their own assets and own assets and earn profits. P-141

Q3. Fill in the following blank with an appropriate term from among the
Following:

means the progress that meets the needs of the present
generation without compromising the need of future generation.

(a) Global commons (b) Development without destruction
(c¢) Sustainable development (d) Politics of developed nations

Ans | (¢) Sustainable Development P-120

Q4. On which basis does India claim permanent membership of the UN
Security Council?

(a) Nuclear capability

(b) Located in Asia

(c) Being a secular country

(d) Large population and big economic power

Ans | (d) Large population and big economic power P-93

Q5. In the questions (5 & 6) given below, there are two statements marked
as Assertion (A) and Reason (R). Read these statements and choose one
correct answer from the given options:
Assertion (A): During constitutional monarchy in 1990s, the political
parties and the common people of Nepal wanted to have
a
more open and responsive system of government.

Reason (R): The King with the help of the army retained full control
over

the government and restricted the expansion of democracy
in

Nepal.

Options:

(a) Both (A) and (R) are true and (R), is the correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is not the correct explanation of
A)

(¢) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.

Ans | (a) Both (A) and (R) are true and R is the correct explanation of ( A) Pg-71

Q6. Assertion (A): The United Nations is expected to cope better with the
Unipolar World.

Reason (R): After the disintegration of Soviet Union many new

countries joined the United Nations.

Options:

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of

(A

(¢) (A) is true, but (R) is false.
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(d) (A) is false, but (R) is true.

Ans | (b) Both ( A) and (R) are true and R is not the correct explanation of (A) 1
Q7. Which one among the following was expected from the Second Five 1
Year Plan?
(a) Industrialisation (b) Economic equality
(c¢)Rural development (d) Eradication of poverty
Ans | (a) Industrialisation P-53- 1
I1
Qs8. Which one of the following is not the objective of NITI Aayog? 1
(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(c) To arrange funds for the developmental programmes.
(d) To put an end to the tardy implementation of the policies.
Ans | (c) To arrange funds for the implementation of developmental programmes 1
or
(d) To put an end to the tardy implementation of the policies.
Note: (c) or (d) can be taken as the correct answer
Q9. Arrange the following in the chronological order 1
(i) Appointment of Lal Bahadur Shastri as Prime Minister
(ii) Tashkent Agreement
(iii) The fourth General Elections.
(iv) Election of VV Giri as the President of India.
Choose the correct option:
() (@), (ii), (iii), (iv)
(b) (i), (ii), (iv). (i)
(¢) (iid), (iv), (i), (ii)
(d) (i), (iv), (i), (iii)
Ans | (a) (1),(i),(ii1),(1v) P-4-11 1
Q10. | What was the time period of 'First Democratic Upsurge in India" 1
(a)From 1950s to 1970s
(b) From 1960s to 1970s
(c) From 1960s to 1980s
(d) From 1970s to 1980s
Ans | (a) From 1950s to 1970s R.M. 1
Ch-5
Q11. | Bodo community belongs to which state?
(a) Arunachal Pradesh (b) Assam 1
(¢) Manipur (d) Mizoram
Ans | (b) Assam P-163 1
11
Q12. | When was Article 370 related to Jammu and Kashmir abolished? 1
(a) 26 January, 2019 (b) 15 August, 2019
(c) 9 August, 2019 (d) 19 August, 2019
Ans | (c) 9th August 2019 RM 1
Unit-7
SECTION - B
Q13. | Suggest any two measures to improve the relations between India and
Pakistan. 2x1

4
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Ans P-

) o 78,79 | 2x1
- The two countries should undertake confidence building measures to I

reduce the risk of war.

Methods of improving relations between India and Pakistan:-

-Social activists and intellectuals should make efforts to create harmonious
relations among people.

- Regular summits where leaders of the two countries should meet to find
solutions to various issues.

- Transportation between two countries be improved.
- Increase in trade between the two parts of Punjab
- Visa policy ; medical tourism, etc. should be encouraged.

(Any 2 of the above )(or any other relevant point)

Q14. 2x1

Explain any two functions of International Labour Organisation (ILO).

Ans RM 2x1

Two functions of International Labour Organisations Unit 5
ni

1) It creates safety ,parity and dignified work conditions

i1) It promotes social justice for workers through International Labour
standard of global level.

iii) promotes incentives for women and male workers to engage in
productive work.

(Any two or any other relevant point)

Q15.

Analyse the India's policy of Non-alignment.

Ans P-67 2

The policy of non- alignment helped in reducing cold war tensions. I

- India wanted to keep away from military alliances led by the US and
Soviet Union which was a difficult balancing act.

- It took an independent stand on various international uses.
- It advocated unity amongst third world countries.
- It helped India to develop and get help from both blocs.

(Or any other relevant point) (any
two)

Q16. |« The South Asian experience of democracy has expanded the global

imagination of democracy." Justify the statement.

Ans P-67 2

The following points justify the statement:

i) People in all countries of South Asia share the aspirations of
democracy.

i) Various surveys in South Asian countries show that there is
widespread support for democracy in South Asian countries.

iii) People of South Asian countries believe that the democracy is the best
form of Government that suits their country

iv ) Citizens view the idea of democracy positively and support the
institutions of representative democracy.

v) Earlier, it was believed that the democracy could flourish and find

5
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support only in prosperous countries of the world.

vi) But now the experience of South Asia has been expanded the global
immigration of democracy.

(Assess as a whole)  (‘any relevant point) (Any 2
points)

Q17.

Explain any two reasons for the formation of the NITI Aayog in place 2x1

of the Planning Commission by the Union Government.

Ans

R.M

Reasons: o
Unit2

i) In the era of globalisation the planning commission was becoming
ineffective and irrelevant.

ii) The planning commission was no longer effective in dealing with the 2x1
difficulties and challenges of development.

ii1) To provide necessary technical advice to the union government
regarding policy making at the central and state levels.

iv) to harmonise the interest of national security and economic policy.
v) To prepare strategic and long term framework of policy and program.

vi) To adopt a bottom-up approach in the spirit of cooperative federalism
as it ensures equal participation of all states in the country.

Or any other relevant point (Any two
points)

Q18.

Why did India not sign the nuclear treaties like NPT and CTBT? 2x1

Explain any two reasons.

Ans

P-79 | 2x1

India has refused to sign and opposed the CTBT and NPT because: 1

1) They were selectively applicable to the non nuclear powers.
i) The legitimised the monopoly of the five nuclear weapon powers.
ii1) India considered NPT as discriminatary.

iv) India was committed to the policy of using nuclear power only for
peaceful purposes.

v) It was in the interest of our national security as our neighbours China
and Pakistan are nuclear power States.

vi) It is important for our defence and deterrence purpose.
(any other relevant point)

(Any
2)

SECTION C

Q19.

"The Arab Spring was the people's revolution against injustice.” 2x2

Support the statement with any two examples.

Ans

RM. | 2x2

1) Arab Spring took its roots from Tunisia where struggle against Unit 2
ni

corruption, unemployment and poverty was started by the public.

ii) This movement turned into a political movement because the people
considered the existing problems as an outcome of autocratic dictatorships.

6
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ii1) The demand for democracy that started in Tunisia spread throughout the
Muslim dominated Arab countries West Asia.

iv) The regime of Hosni Mubarak in Egypt also collapsed as a result of
massive democratic protest.

v) The influence of Arab Spring could also be seen in Yemen, Bahrain,
Libya and Syria, where similar protest by the people let to the democratic
awakening throughout the region.

(any
two)

Q20. 2x2

Highlight any two reasons for the split in the Congress Party in 1969.

P-92- | 2x2

93
1) Differences between Indira Gandhi and the Syndicate. 1

Ans Reasons for the split in Congress:

ii) Revolutionary steps (Ten Point programme) taken by Indira Gandhi
were not welcomed by the old Congress leaders.

iii) The abolition of privy purse or special provisions given to former
princess led to the differences among the Congress party members.

iv) Nomination of N. Sanjiva Reddy by the Syndicate as the official
candidate for the post of the President of India in 1969 but Indira Gandhi
supported VV Giri as an independent candidate.

(v)The defeat of the official candidate led to the split of the Congress
party to two parts. (
any two)

Q21. 4x1

Highlight any four outcomes of the ‘Earth Summit’ held in June 1992 at
Rio.

Ans Outcomes of the Earth Summit 1992 P-120-

123 4x1

(1) The environmental issues were brought into the focus of global
politics.

(i1) A list of development practices called “Agenda 21" were
recommended.

(iii) Sustainable development was emphasized upon.

(iv) The rich and the developed countries pursued different agenda than
the poor and developing environmental countries of the third world.

(v)The principle of ‘common but differentiated responsibilities’was
accepted.

Or any other point (any
four)

Q22. Assess the role played by Akali Dal, a regional party, in the politics of

Punjab.

Ans (i)Akali Dal had led the movement for the formation of Punjabi Sabha. 115)£§ 4

(i1) In 1966, Punjabi -speaking areas were included in the newly created 161
state of Punjab. I
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(iii)Akali Dal formed it's first government in Punjab in 1967.

(iv) After years of political disturbances, the Akali Dal signed an
agreement called the Punjab Accord in 1985.

Or any other relevant point (any
four)

Q23.

Evaluate Sardar Patel's role in the integration of princely states with
Indian Union.

Ans

Role of Sardar Patel P-Ii6
(i)Sardar Patel was India's First Deputy Prime Minister and Home RM

Minister. Unit - 4
(i1) He played a historic role in negotiating with the rulers of Princely 9
States and bringing most of them into the Indian Union.

(iii)Under his leadership the government’s approach for integrating the
princely states was adhered to.

(iv)It was under his leadership that Indian forces compelled Hyderabad
and Junagadh to merge with India.

(v)Keeping well-versed with Pakistan's intentions ,Sardar Patel’s opinion
on Kashmir was different from other leaders.

(vi)Like Hyderabad, he also wanted Kashmir’s integration with India
through military operations. But due to political decisions, could not
succeed in integrating Kashmir fully with India.

or any other relevant point (any
four)

SECTION D

Q24.

Read the passage given below carefully and answer the questions that 4x1

follow:

Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds -ideas moving from one part of the world to
another, capital shunted between two or more places, commodities
being traded across borders and people moving in search of better
livelihoods to different parts of the world .The crucial element is the
‘worldwide interconnectedness’' that is created and sustained as a
consequence of these constant flows.

24.1)

P- 4x1
137-1

Worldwide interconnectedness is also known as
(a) Globalisation.

(b) Liberalisation

(¢) Socialisation

(d) Privatisation

Ans. (a) Globalisation

(24.2)

P-

Dimensions of globalisation are
138-1

(a) Political, Social and Spiritual

(b) Social, Economic and geographical
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(c) Political, Economic and Environmental
(d) Political, Social and economic

Ans. (d) Political, Social and Economic

(24.3) | Which among the following increases economic activities? IZE)
(a) Decline in employment 141-1
(b) Increase in the index of poverty
(c) Strong global economic growth
(d) Great decline in the trade
Ans. (c) Strong global economic growth
(24.4) | Which one of the following is an impact of globalisation? 153' 1
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(c) Choice of the customer has increased.
(d) It has given a boost to local industries.
Ans. (c) Choice of the customer has increased.
Q25. In the given political outline map of India, four countries /states have ax1
been marked as A, B, C and D. Identify these on the basis of the
information given below and write their correct names in your answer
book along with their respective serial number of the information used
and the concerned alphabet as per format that follows:
(i) The country with which India fought a battle in 1962 .
(ii) The country with which India has a dispute on Kashmir.
(iii) The country which came into existence after the 1971 war .
(iv) The Indian state which shares its border with Chinn.
Serial number of the Concerned alphabet | Name of the
information used given in the map Countries / State
®
(i)
(iii)
(iv)
°
T, 4x1
Ans Serial number of the Concerned alphabet Name of the State X
information used given in the map

9
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. . P-61-1
(@) C China P74-1
(ii) D Pakistan P-68-1
P-61-1
(iii) A Bangladesh
(iv) B Arunachal
Pradesh
Note: The following questions are for Visually Impaired Candidates axl
only in lieu of Q. No. 25:
(25.1) Name the country with which India fought a battle in 1962.
(25.2) With which country did India have conflict over Kashmir issue
since independence?
(25.3) Name the country related to Sheikh Mujibur Rahman.
(25.4)Which Indian state in the North East shares its border with China
D)
For Visually Impaired Candidates 113'2411'%
25.1 China P-70-1
25.2 Pakistan P-61-1
25.3 Bangladesh
25.4 Arunachal Pradesh
Q26. Study the given cartoon carefully and answer the questions that follow: 4xl
(0 The soldier shown in the cartoon belongs to which one of following P-37-11 4xl
countries?
(a) USSR (b)USA
(¢) Iraq (d)Iran
Ans. (b)USA
() | 1n which year was Iraq attacked under the code name ‘Operation Iraqi P-37-1
freedom’?
(a) 1993 (b)2000
(c) 2003 (d)2008
Ans.(c) 2003

10
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(iii)

Which one of the following countries shown on the cartoon is a " Gulf
Country”?

(a) Iran (b)Kazakhstan

(c) Pakistan (d)Oman

Ans. (d) Oman

P-37-1

(iv)

The First Gulf War is also known as
(a) Smart War (b) Operation Liberation

(¢) Computer War (d) Operation Enduring Freedom
Ans.(c) Computer War

P-34-1

Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 26:

(26.1)Which one of the following is a Gulf country?
(a) Iran (b) Pakistan
(¢) Oman (d) Kazakhstan

(26.2) In which year was Iraq attacked under the code name
‘Operation Iraqi Freedom’ ?

(a) 1995 (b) 1999

(c) 2003 (d) 2007

(26.3) What is the full form of WMD?

(a) Weapons of minimum destruction

(b) Weapons of mass destruction

(c) Weapons of maximum destruction

(d) Weapons of most destruction

(26.4) Te First Gulf War is known as-

(a) Smart War (b) Operation Liberation

(¢) Computer War (d) Operation Enduring Freedom

4x1

For Visually Impaired Candidates in lieu of question number 26.
(26.1) (d) Oman
(26.2) (c) 2003
(26.3) (b) Weapons of mass destruction
(26.4) (c¢) Computer War

P-37-1
P-37-1
P-37-1
P-34-1

4x1

SECTION E

Q27.

(a) Explain the process of evolution of the European Union from an
economic union to an increasingly political one.
OR

(b) Explain any three factors that led India to emerge as a new Centre
of Power.

3x2

11
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f:)‘s Evolution of EU from economic union to a political one: P'5542'
1) European integration after 1945 aided by the Cold War. America I

extended financial help under the 'martial plan'

ii) It became a forum for Western European States to cooperate on trade
and economic issues. Organisations like OEEC, Council of Europe,

European economic community, European parliament and finally 6
European Union came up.

ii1) It also laid foundation for a common foreign and security policy,
corporation on justice and home affairs and creation of common
currency.

iv) It has also started to act more as a nation state. EU has it's own flag,
anthem, founding date and currency. It also has some form of a common
foreign and security policy.

v) The EU has economic, political and democratic and military influence.

(or any other relevant points ) (‘any three points)

Or
(b) India as new centre of power:

i) 21%" Century India is being seen as an important emerging global
power. The economic,cultural, strategic position of the country with a
population of more than 135 crores, is very strong.

ii) From an economic perspective, targeting the goal of a 5 trillion
economy and a competitive huge market, help India to be a centre of
power.

Unit2 | 3x2

R.M.
iil) An ancient inclusive culture with 200 million people of Indian

Diaspora spreading across the globe impart distinct meaning and salience
to India as a new centre of power.

iv) The military of India is self sufficient, with indigenous nuclear
technology another nuclear power.

v) 'Make in India' scheme in technology and science is another milestone
of Indian economy.

(any other relevant point ) (any three
points)

Q28. (a)Explain terrorism as a new source of threat to the security with the

help of any two examples. 2x3

OR

(b) Explain any four criteria proposed for new permanent and non-
permanent members of the UN Security Council.

1

?r)ls (i) Terrorism is a new threat to non- additional security as innocent people 157' I 2x3
a -
are targeted and killed to achieve the desired goals. RM

ii) Terrorism refers to political violence that targets civilians deliberately | Unit 6

12
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and in discriminately

iii) Terrorism refers to systematic use of brutal violence that creates an
atmosphere of fear in society.

iv) Terrorist group seek to change a political context or condition that
they do not like by force or threat of force.

v) Civilian targets are usually chosen to terrorise the public and use the
unhappines of the public as a weapon against national government or
other

parties in conflict.
(Any one point)
Examples:

1) The hijacking of planes and attacking the World Trade Centre in USA
is a classical example of terrorism. Thousands of people lost their lives.

i1) The terrorist activities in Jammu and Kashmir launched by Pakistan is
another example which has jeopardised the peace and normal life in the
region. India is facing this problem since long.

i) Similar terror attacks have occurred in Middle East, Europe, Latin
America and South Asia.

(If a candidate gives only one example even then full marks for the part P-89-1 | 4x1
can be awarded ) (any two) !

Or
Proposed Criteria
(b) i) A new member should be a major economic power.
ii) A major military power
iii) A big nation in terms of population.
iv) A substantial contributor to the UN budget.
v) Must have respect for democracy and human Rights.

vi) a country that would make the council more representative of the
world's diversity in terms of geography, economics system and culture.

( Any Four
Points)

Q29. (a) Why is the emergency imposed in 1975 considered the most 3x2

controversial episode in Indian politics? Highlight any three
reasons.
OR
(b) Highlight any three factors which were responsible for the 3x2
downfall
of the Congress Party in the 1977 elections.

Ans | Reasons: P- 3x2
(a) . . 107-
1) Democracy was negated for the first time. 117-11

ii) Fundamental Rights were openly violated.

iii) Freedom of press was curtailed.

13




ALL INDIA SENIOR SCHOOL CERTIFICATE EXAMINATION MARKING SCHEME-2023

SUBJECT : POLITICAL SCIENCE (028)
PAPER CODE NO:59/5/1

(b)

iv) Misuse of the preventive detention Law
v) Excesses were committed all over the country- e.g custodial death.

vi) Abuse of authority- exercise of governmental power by people who held
no official position- for example demolitions and forced sterilization in
Delhi became very controversial.

vii) Controversy over Parliament’s power to amend basic features of the
constitution.

viii) Political controversy regarding super seeding of three judges to the
supreme court.

(Or any other relevant points) (any three points)
Or
Factors responsible for the downfall of the congress:

1) Emergency imposed in 1975 -The 1977 elections turned into a
referendum on the experience of emergency.

i) The experience of emergency brought forth that governments that are
perceived to be anti- democratic are severely punished by the voters.

ii1) Unification of the opposition parties against the Congress; formation
of Janata Party, to ensure that non-Congress votes would not be divided.

iv) Some leaders of the Congress were also opposed to the emergency .
They joined the new party.

v) The Janata Party made this election into a referendum on the
emergency.

vi) The opposition fought the election on the slogan 'Save Democracy'

vii) Janata Party focused it's campaign on the non-democratic character of
the rule and on the various excesses that took place during this period.

viii) In the backdrop of arrests of thousands of persons and the
censorship of press ,the public opinion was against the Congress.

ix) Jaya Prakash Narayan became the popular symbol of restoration of
democracy.

(Any other relevant points) (‘any 3 points)

P-
118-
119-11

3x2

Q30.

(a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the 'Other Backward Classes' (OBCs)?
Analyse.

OR
(b) Analyse any three factors that led to the rise of 'Other Backward
Classes' (OBCs) in Indian Politics?

3x2

3x2

Ans

(a)

The Mandal Commission recommended

1) Reservation of 27% of seats in educational institutions. It helped to
enhance the opportunities of OBCs to get higher education.

ii1) 27% seats reserved in government jobs which provided extra
opportunities to the youth of OBCs to get employment and lead to
respectful life.

iii) The Mandal Commission recommended land reforms to improve the

P-
182-11

3x2
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living conditions of the OBCs.

iv) The commission advised that 'backward classes' should be understood
to mean 'backward castes' , since many Castes, other than scheduled
castes, were also treated as low in the caste hierarchy.

v) The National Front government decided to implement one of the
recommendation of Mandal Commission pertaining to reservations for
OBCs in jobs in the central government and its undertakings.

vi) The decision of National Front government was challenged in the
Supreme Court and came to be known as 'Indira Sawhney' case. The
Supreme Court upheld the decisions of the government.

(Or any other point) (any three points)
OR

Three factors:

(b) 1) Support by Congress to many sections of Backwards Castes, weakened. P.
This created space for non-Congress parties to support these groups. 180-
i1) Janata Party government in 1977 provided opportunity of political 183
expression national level to these parties like Bhartiya Kranti Dal and 11 3x2

Samyukta Socialist Party.

iii) Decision of National Front government to implement the
recommendations of the Mandal Commission helped in shaping the
politics of other backward classes.The decision came to be known as
Indira Sawhney case where Supreme Court upheld the decision of the
government.

iv) OBC’s became more aware of their identity after intense national
debate for and against reservation in jobs. In Uttar Pradesh Dalit Leader
Mayawati became the Chief Minister.

v) This was a period of emergence of many parties that sought better
opportunities for OBCs in education and employment for sharing power
like BAMCEF and Bahujan Samaj party.

(Brief explanation of any three factors) or any other relevant point
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